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Unit 2 Review

]
Fill in the blanks using the postulates from section 2.4

1. Through any G points there is exactly one line.

2. Through any 3 noncollinear points, there is exactly one plane.
3. A line contains at least i points.

4. A plane contains at least i noncollinear points.

5. If two lines intersect, then their intersection is a‘} A ?0 \ ﬁ*

6. If two planes intersect, then their intersection is © l LhA ‘2’ .

7. Name the intersection of planes ABWV and AVZE.

— A
BV E 8
AV
e
Y X

2-6

Find the measure of each numbered angle.

8. £5 670
Justification: ‘ N QO\( Pc\ \ C
9. /6 ) 77 - [ 34 >

—-
-

o
Justification: I n QO\‘ @a’

10. £7 7‘;3
Justification: VQ’*’C',' C "\Nﬂ
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Given Mm/1="72 and m/3 =26, find: L 4

1. m2= ) | K
Tustification: N @€} & 1 “wA N2 ’3 74 »

12. mZ4 = ‘ S I ' \

So ? ?\CN'\‘\' T

Justification:

13.
msFCD = x+41, mzBCF = x + 78,

and mzBCD =95°. Find x.

; x¥4) Fxa78 * 7>
F -~
_ axy 09 295
( ? X = - |~

| | o Proce. Al d Yosx
Which theorem/postulate did you use to set up the equation? ﬂ\:\ :

Find the value of x. x=

T
/

Which theorem/postulate did you use to set up the equation? V 'Qr 4 ‘} < ] h )
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15. P
- T Find the value of x. x= | l
b * _-"‘I:”: - ?X *‘q : ‘ ‘3
; Ox=9 9
Y = 1)
o5%
Which theorem/postulate did you use to set up the equation? C A ¢ ?
16. : Find the value of x. x= ('7
. Jex+3 =\
i : Lbx = UX
16x +3 \ —-
_ X =17

AER Thr

Which theorem/postulate did you use to set up the equation?

17. N Find the value of x. x= 5 \{

N\ Qx:,og

II" SVN\MN'\’\ Thm

Which theorem/postulate did you use to set up the equation?
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i ‘QO Find the value of x. x= L
N Zor L ¥4 =T LD>
Fx4YS < 3‘:’

3x=
Co me‘lNMTl'W’\

Which theorem/postulate did you use to set up the equation?

o\ 29 W

19. £1 is complementary to 22 and £3 is complementary to £2. m£1 = 61°

Find m#2 and m23.

¢ ownp\gnen Yhen

Which theorem/postulate did you use to set up the equation?

2.7 | Classify the pairs of angles as corresponding, alternate interior, alternate exterior, consecutive

interior, vertical angles, or lim?r pair.

. ) 20. /2and /6 CorY
| 21. Zland /3 Vert
. 2'.'3 6|7 _ 2. Z4and /s $SF
e i 5/8 23. /7and /8 Jingar ?m'(
[ 24. Zland /7 pER
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Given M/1=123, find the measures of the angles below. Be ready to justify your response!

‘ ’ 5. ms3= VRD 26 ms4=_S Y
16 |15
‘ oy —
9-‘10" - 14 13 27. ?”47:'77;3 28. mLS:Q
.
.. 817 Y T 29. m/10 = ST 0. moal=_ XD
117 6|5 _ —
3‘4 . 3L ’"414:577 32. mélS:liB

Y

Use the diagram below to answer each question.

A A 33. Name the transversal. ’P
- ‘? 3_ 34. Which two lines are parallel? x \ \ N\
4
E‘; 8 Given M£5 =7x—5 and mAL4 = 2x + 23, find:
1 1 s5a- 2x~§+2x423 T YD
' ,:, 36. mL4 = and MmL5 =

q)(:lg)‘ :.,3
a 9 X

SST Thme

Which theorem/postulate did you use to set up the equation?

4

37. Find the value of x in the diagram at the right.

/8+14x

x= | b)(- ? :g{»l"f)‘ e lbx=8/ -
2 %=\ b ¥
x -
Which theorem/postulate did you use to set up the equation? n I a ’p\m
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2.8 | Determine whether KM and ST ave parallel, perpendicular or neither.

38. K(-1,-8), M(1, 6), 5(-2. —6), T(2. 10) 39. K(-1, -8), M(1, 6), S(-2.—6), T(2, 10)

e —%-6 9 '%? 1D _4lb
< ) = 21 .
e == [S=>=

R
-

Write an equation in point-slope form of the line having the given slope that contain:

40. contains B(—4, ), parallel to FG > -} 41. contains Z(—3, 0), perpendicular to EK

with F(0,-3) and G(4,-2) =\ < g ° with E(-2, 4) and K(2, -2) Y - b
! 7 ) ESCE
- 4 - |
\/ A = Y ( X1 2AR N -2
2
1
41a. Find the missing coordinate, b, if D(b,4—), S(—6,3) and m=—. -\1 i
12 12 - W\
-4 .7 %
= - - ]
- L-bp
-~ a ) ) ) -2 = ~L-b
-— ,&
29 G
State which lines, if any, are parallel. State the postulate/theorem used to justify your answer.
2. mZT+m210=180 W\ |% . Ssa Conaverse =
4 A
B po=m05 W \] X . Aie ConvefisR " o
. 125t
14
4. L3=/4 w “ X . ATa (onvels v ) T
9

45. 6= /11 A/ \)Z CCo (Y < Coavers«&
6. L1= /6 W”)( , AeAn Cvave (R

o
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Determine the value of x to make p || g. Identify the postulate or theorem used.

f d

f(5x + 2!]" (12x + 6)
4 f 47. x= s
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